
 

 

                         APERTURA  DI   2 Q    (  MULTICOLOR ) 

 

  -    6°  con onori  di  C  o   di  P                           6  -  11 

  --   mano bilanciata forte                                      25  + 

  --   apertura naturale  (  5°  +   Q  )                       21  +   oppure   4  perdenti 

 

 

 

 

 

                       Rispondente 

                    Apertore  

 

 Rispond.  

con  6°  di  C 

 

 con 6°  di  P 

 

Mano debole  6-11  bilanciata 

 

     2 C 

 

         passo 

 

           2 P 

 

  passo 

 

    Mano  positiva  12 + 

 

    2 SA 

 

        3 C 

 

           3P 

 passo  o 

 4C / 4P 

 

Mano semipositiva  

    6-11  con buon  

      appoggio  a 

          

 

  C 

 

     2 P 

 

       3  -  4  C 

 

          passo 

 

    --- 

 

  P 

 

     2 C 

 

        passo 

 

           2 P 

  passo o 

4C / 4P 

 


